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ARKAJAIN
Universitv
Jharkhand r

Subject
Gourse
Full Marks

r Banking Law
: BBA. LLB
z7O

Roll No:

Time :3 Hours.

lnstructions to the Candidates:
. Read the question paper very carefutty.o start writing from 2nd page onwards; bon,t.write on The ,tst paee Backside.. Question paper is divided into Three iarts _R,EE C-. Part-A is containing 12 muttipte choice questions.o Part- B containing srX questions out of which FOUR questions are to beanswered.
o Part c containing FoUR questions out of which TWo questions are to beanswered.
r Do not write anything except your Rott No. on the question paper.o Possession of Mobile phones or any kind oft|': myi"'t"t"@@;;,A nder Unfair Means

PART - A
[12x1=12]

f . i) When did the Banking Regulation Act come into effect?
a) 16th March 1949 b) 10rh March1949
c) 12th March 1950 d) 6th March 1950

ii) which one of the following is the most important relationship between banker andcustomer?
a) Debtor and Creditor b) Bailee and Bailor
c) Agency and Principal d) Trustee and Beneficiaryiii) Dishonour of cheque by a banker without any justifiabl" ,"rro., is called
a) Valid dishonour of cheques b)-Unmindful dishonour of cheques
c) Negligence dishonour of cheques _ dj Wrongful dishonour of chequesiv) The Banking Reguration Act was initiary passed bi what name?
a) Banking Firms Act, 1949 b) Banking Companie s Act,7949
c) Banking Units Act, 1949 d) None 

v i
v) which banks which accept deposits from the pubric and rend them mainry tocommerce for short periods?

a) Commercial Bank
c) Agricultural Bank

b)Indushial Bank
d) Cenhal Bank



v) who has the power to give directions to other Banking Companies?
a) RBI b) Government of India
c) Registrar d)Auditor

vi) Banking comPany means any company which transacts the business ofa) Banking only b) Banking & Insurance
c) Banking & Foreign Exchange aj nanhn[ C Manufactu.rngviii) A drawer in the bill of exchange .u., alro U" u 

" 
.a) Paymaster b) payee

c) Banker
k) Yl: is-primarily tiabte on u p.o.r,rrrofli::$t"'

a) Holder
c) Drawee b) Maker

x) Conhacts by lunatics in Inclia are 
d) Endorser

a) Always void b)Al*ays valid
c) Always Voidable d) At times voidable

xi) The reasonable period arowed in India for the presentauon of a cheque is--a) 1 Year b)3 Months
c) 9 Months d) Depending upon customxii) How many parties are mainly involved in promissory Note?a)one b) Fivec)Two d) Three

PART - BAnswer anlz FOUR out of SIX

' #Tffi:#e 
activities permiftecl by the Banking Regutation Act,1949to be raken up

3' Discuss the sarient features of the Negotiabre Instrument Act, 1gg1.4' what is bill of exchange? what are itJessentiar erements? Discuss.5' Define Promissory note. Discuss the main characteristics of a promissory note.6' write a note on suspension of Business and winding rp Jnu.,ting Companies.
7 ' who is customer of a bank? Explain the relationship between banker and customer.

Answer any TWo out of FouR 
PART - c

[4x7=281

[2x15=30]
8. Discuss the powers of Reserve Bank of India under Banking Reguration Act, 1949.

' H|[::t 
you mean by crossing of cheque. Discuss the diffeient types of crossing of

10' what precautions shourd a banker take in opening a new account in the name of a
_ _ YTo. and joint hindu famity?
11' Define the term'negotiable instrumenfl. Explain its essential characteristics.
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@/ffiffi{njf
: Administrative Law
: BBA. LLB
:7O

t?

Subject
Gourse
Full Marks

Time :3 Hours.

a

a

a

a

a

--._...J rv (rrE l-ctll(Ilqafgs:

l_"* ji:..1stion paper very carefutty.
Start writing from ind p.g" or*ui;;;'l;",
Question paper is oivioeJ'inti' #;i Parts -A, B &

3*:oJ' ^'ollul 
nl nt 

11 
m u itrxe ;;;;;:*',?iilons.

. Part C containing FOUR questions out of whichanswered.

Part- B .ortuining StX quesfirons out of whichanswered.

vqrrLsudU()n oT fne paDefs.

FOUR questions are to be

TWO questions are to be

: 3:.:::::t:',i:]:il:t:i."0, vour Rorr No. on rhe question paper.possession of Mobire phones or any t<ina of 
YUsrLrurr Pdlrer'

th;-t 
"di i"i;ffi?.ussi ns with co_sr, r x/:iil;l?r' 

{aterla l.,Ar

on

PART - A

[12x1=121
f . i) Administrative Law forms part of:

a) Public law L\ ,
c) Internationar Ii 

b) Common law

"'1ffi1""i:Bl,'i;-ri.notthedilx'rffi 
;'",i:raccordingtoAVDiceyc) pre-dominance.of 

legal spirir ji i,o"discretionarypowersiii) The functions of the elecuti"" .ur., il .rurrifi"a u,a) Delegated legislation rrfg.ruri_judicial functionc) Discretionarv fr

,"iffi ;;H;# ii :f;Jo,*," 
",,*1lL:;ilH,:1"a) France

..;-G",*u,,y l]i::fil.
'Ji:m#"e 

power under article 6doi * the constitution vests in

..jy,ai.iu.y llo#,:**,vi) When did the Local and Lokyuktal.i.o-" into force?a) 2010

c)2013 b)2012
d) 2018



viii) what is the term of office of Lokpal Chairman and members?

vii) French legal system known as:
a) Counseil d' etat
c) ]udiciary

a)7 years
c) 10 years

a) 299
c) 323-A

xi) Hear the other side referred as:

b) Droit administratif
d) None of the above

b) 5 years
d) 2 years

b) 300
d) None of the above

ix) The Latin phrase -=- means'have the body,
a) Habeas Corpus b) Mandamus
c) Prohibition d)Certiorari

x) Under Constitution, Article 

- 
authorized to constitute Administrative Tribunal

a) Audi alteram partem b) intra vires
c) Locus standi d) Nemo debet esse judex in propria causa

xii) section 
- 

of Lokpal and Lokyukta Act states Establishment of Lokpala)2 b) 3
c)5 d)4

PART - B
Answer any FOUR out of SIX l4x7=2gl

2. Define Administrative Law. Explain the reasons for the growth of Aclministrative
Law as an outstanding development of the 20th century.

3. What is meant by Administrative Discretion? Enumerate the grounds of Judicial
Review over Administrative Discretion.

4. Explain the historical development of the ombudsman system. Discuss how far it is
applicable in India

5. Explain Audi Alteram partem and its components.
6. what do you understand by the principre of Natural ]ustice? what are the

exceptions to this principle?
7. Explain the scope and meaning of Judicial Review uncler Administrative process.

PART - C
Answer any TWO out of FOUR [2x15=30]

8. Explain the concept of Rule of Law propounded by A.V. Dicey. Do you if,ir,f tf,ui
the concept of Rule of Law has been incorporated under the Constitution of India?
Critically examine.

9. "The doctrine of separation of powers as propounded by Montesquieu is not
feasible in its strict sense for the Governance of any democrafic.or.,t y". In the light
of this statement critically evaluate the relevancy of the doctrine of separation oI
powers.

10. what is the meaning of ombudsman? Trace its development to present day
position.

11' Mention about the functions and powers of Lokpal. Elaborate on the matters not
within the jurisdiction of Lokpal.



ARKAJAIN
University
Jharkhand

5th Semester End Term Examination: Dec - 2O22.
: Givil Procedure Gode & Limitation Act Roll No:Subject

Gourse
Full Marks

: BBA - LLB
:7O Time : 3 Hours.

lnstructions to the Candidates:
. Read the question paper very carefulty.
o Start writing from 2nd page onwards; Don't Write On The 1st Paee Backside.. Question Paper is divided into Three Parts -A, B & C.. Part-A is containing 12 muttipte choice questions.
o Part- B containing SIX questions out of which FOUR questions are to be

answered.
r Part C containing FOUR questions out of which TWO questions are to be

answered.
. Do not write anything except your Rot[ No. on the question paper.
r Possession of Mobile Phones or any kind of Written Material. Arquments with

the lnvisilator or Discussine with Co-student witt com@s
and wi[[ Result in the Cancellation of the papers.

PART - A
Multiple Choice Ouestions

f . i) Under section 10 of CPC, a suit is liable to be

ll2xL=L2l

ii) For instituting a suit against the Government or against a public officer in official
capacity, the notice period under section 80 of CpC is

a) Stayed
c) Rejected

a) 3months
c) lmonth

a) Court of District Judge
c) Supreme Court

iv) Set -off can be
a) Legal set-ff
c) Both a and b

a) 10 days
c) 30 days

b) Dismissed
d) Either a or b or c

b) 2 months
d) 15 days

b) High court
d) All the Above

b)Equitable set-ff
d) Either a or b

b) 20 days
d) 15 days

iii) A reference under section 113 of CpC can be made to.

v) Under order XX, Rule 6.4. of CPC, decree is to be drawn
from the date of judgment



vi) Pleading must state
a) Facts b) Law
c)Evidence. d) All the above

vii) Compensatory costs under section 35A of CPC can be imposed to the extent of
a) Rs,3000 b) Rs,5000
c) Rs,10000 d) Without any limit

viii) Section 115 of CPC provides for
a) Reference b) Review
c) Revision d) Appeal to the Supreme Court

ix) Order XVII, Rule 1 of CPC restricts the number of acljournments to be grantecl to a
party to

a) Five b) Four
c) Three d) Two

x) Where a person who is necessary party to the suit has not been joined as a par$u to
the suit it is a case o[

a) Non-joinder b) Mis-joinder
c) Both a and b d) Neither a nor b

xi) Section 3 of Limitation Act does not apply to
a) Suits b) Application
c) Execution d) None of the above

xii) Which of the following is not a decree
a) Dismissal in default b) Rejection of a plaint
c) Both a and b d) Neither a nor b

PART - B
Answer any FOUR out of SIX l4x7=281

2. In what cases temporary Injunction can be granted?
3. What is Revision? What are the grounds of Revision?
4. When can the court appoint Receiver? State the powers and duties of a Receiver.
5. Write joinder of parties, mis joinder and non-joinder of parties
6. Analysis of Order 33(suits by indigent persons) of CPC
7. What is the necessary condition for filing representative suit?

PART - C
Answer any TWO out of FOUR [2x15=30]

B. Explain Limitation bars the remedy, but does not extinguish the right.
9. The court is closed on the last date of limitation period A seeks extension of

limitation period on that ground will he succeed?
10. Analysis of Doctrine of Res Sub Judice and Res judicata in code of Civil Procedure.
11. What is appeal in CPC and what is the dilference between first appeal and second

Appeal.

\
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PART - A
Multiple Choice Ouestions
f . i) Which of the statement is True-

a) The Cost of Firm differ as per Size

c) Both are True
ii) One of these does not include Type of Entrepreneur-

a) Right
c) Cannot Say

a) Innovating Enkepreneur
c) Drone Entrepreneurs

v) Which is not Risk to start business

a) Changes in Customer Preferences
(]eans to Ready-Made)

c) Changes in Fashion

a) Philosopher
c) Imitator

iii) Critical Thinking is part of Entrepreneur personality

112x1=L2l

b) The Cost of Firm is no.t

related to its size
d) Not Sure

b) Innovator
d) Fabian

b) Wrong
d) Not Sure

b) Imitative Entrepreneurs
d) Fabian Entrepreneurs

b) Increased Competition in all
Industry

d) Friend Circle changing

iv) The category of Entrepreneurs who create an entirely new products/services are



vi) Which statement is invalid - "Entrepreneurship is important because -"
a) It adds up to GDP b) It gives opportunity to fix things

right
c) It brings innovation for some people d) It increases Employment

vii) Critical Thinking is part of Entrepreneur personality
a) Right b)Wrong
c) Cannot Say d) Not Sure

viii) Entrepreneurship does not have-
a) Generation of Idea b) Formation of Friendly

Network
c) Preparation of Feasibility Report d) Operation

ix) Which one of the following is not the characteristics of Entrepreneurship-?
a) It is an economic activity b) It has potential for profit
c) It entails innovation d) It calls for artistic activity

x) Entrepreneurship is
a) Historic Activity b) Artistic Activity
c)Economic Activity d) None

xi) LLP Means -
a) Landlord's Partnership b) Limited Liability Partnership
c) Local Liabilities Payments d) None

xii) EDII is located in
a) New Delhi b) Ahmedabad
c) Jharia d) Kolkata

PART - B
Answer anv FOUR out of SIX l4x7=281

2. What is the meaning of Entrepreneur? How they are different from ntrepreneurs?
3. What are the characteristics of a Successful Entrepreneur? Explain.
4. How to design a MARKETING PLAN for your Enterprise explain. Describe all the

steps requir"a for setting up an enterprise/Business
5. "An Idea is basic and first step for starting a Big Business" - explain.
6. Creativity is essential element in Business - explain.
7. Explain different types of Entrepreneurs.

PART - C
Answer any TWO out of FOUR [2xL5=30]

8. Explain how does an Entrepreneur think?
9. Explain meaning of Business Plan - Marke.ting PIan, Financial Plan and

Organisational Plan.
10. Explain different roles of Entrepreneur's in the economy.
11. Explain these Terms -

a) NSIC
b) EDrr
c) NIESBUD
d)Drc
e) Steps in Formation of a Partnership company
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f . i) Assumptions of Adam smith's Theory of Absorute Cost Advantage
a) Trade is between two countries b) only two commodities are traded
c) Free Trade exists between the countries d) All the above

a) Cutthroat Competition
c) Import of harmful products

a) The introduction of new products
c) Product price

3 Hours.

PART - A
Multiple Choice Ouestions [L2x1=L2l

ii) Quotas are government-imposed limits on ther_of goods trade between
Countries

a) Price
c) Revenue

iii) Which of the following is against Free Trade

Subject
Gourse
Full Marks

Roll No:
Time :

iv) If a nation has an open economy it means that the nation:
a) Allows private ownership of capital b) Has flexible exchange rates
c) Has fixed exchange rate d)Conducts trade with other

countries
v) International trade forces domestic firms to become more competitive in terms of:

b) Quantity
d)Costs

b) Excessive Foreign dependence
d) All of the above

b)Product design and quality
d) all of the above



ti) Jl" types of Import euota Inclucles
a) tarttt or custom euota b) Unilateral euotac) Bilateral euota

vii) Free trade will Iead to 
d) All of the above

a) Maximization of world output b) Optimum use of the resourcesc) Enlargement of.the *u.t"i'*' I1 o, o, the above""' Tfl'II:ff;:,T:t*:"rs i., the go,l,nment revying both a speciric tarirr and an
a) Compoun;,;;# 

on importecl g""d;iNominar 
tariffc) Effective tariff

'' li p'; ;" ;il;"; v o r Co m p a r a n 
" " 

.',? 
),,*",'ffi 

iil f -
c)1987 b)7876

x) Integrarion of economics ail over ,n" #rl;f known asa) Globalization
c) Privatization b) Liberalization

"'t#i#i*ry:ililuT#tr;*#*:*riti;"mx.ranec.n.my
a) International Eco
c) Internal tracle 

nomics b) Nationali 
'^i;;

"?,Ti1i,1".'ff*two countries can 
" 3"1Ji?li::::nr", orgoods are

cjEquat b) Decreasing
d) Different

PART - B

i,T,i:f:rnJ"t*u* internJanct interna tionat rra d e ?
[4x7=28]rrwr (al [I acl(

: ,rj]:: 
,1u *T imporrance of inrernarionar economi4. Write a brief note on IBRD ancl IDA.

5. Distinguish between tariffs and quotas?
6. Write a short note c
7 D es c ri be,h u p,", ";,1ffii|:::?',lfiTr1#;.J l';;::0" 

*" r pa rty rh e ory

{nswet any Two out of FouR 
PART - c

u' Explain features una ,r**Ei*s of Heckscher - ohlin theory of hade. 
[2x15=30]

9' Explain the features ancl assump,r""r 
"i 

th_e opportunity theory of trade.10' Explain the barance or puy*"ri *nut"r.u *,u.urr", oJ;;;;Iourabre bop?11' Distinguish between ttre barance 
"i"ra;t 0,1111"" of payments. If the barance of#1ffi::i:$:li:;l?i l,Te' 

how ao voo distinguish ult-"",' a week and a


